A sample of HTEX

The standard procedure for ebtaining a global metric from an infinitesimal form is
to first define the length of a path. If «(t) is a smooth path lying in the unit disk A
parameterized by £y < ¢ < t;, the length of & is defined by

t(a) = j " pala(t)le ()] dt.

to
The length of a piecewise smooth path is the sum of the lengths of each of its smooth
parts. Then the distance function is defined by

d(a,b) = inf{£(e): «v is a piecewise smooth path joining a to b}. (1)

This function is obvionsly symmetric and satisfies the triangle inequality. For the unit
disk, let a be a path which joins a = 0 to b =2, # < & < 1. We can estimate the length
of e in the following way: For a(t) = oy (£) + faa(t),
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On letting a(t) = tz, 0 <t < 1, we get equality in (2) and we see that the infimum
in (1) is achieved by this curve and that
1+x

1
d{0,z) = EIOgl—fc'




. Evey  LaTTe Rk shak it o

\documentclass[adpaper}{article} & N\ ecomakoloss  conannmnd

t‘;i;lg{ﬁ}\sampleof\LaTeX} éuo\_\ml\‘ wice N \128‘\\'2&0_0-\4%\&2 W

W~ ocweunrent . &X‘C.
\addtolength{\hoffset}{-0.7cm} w et S‘QH‘ Nﬁl
\addtolength{\textwidth}{1.4cm} Z
L T U N T e ",e;Afclm 7 " wad
\begin{document) &— EveyHdrg hdWsern \\’”Y"‘e"k’m‘.‘“”u ‘ =4 A i
\maketitle R - 5 JPFE‘AM% Ow&-f& n Yowr PD‘P

The standard procedure for obtaining a global metric from an

infinitesimal form is to first define the length of a path. If

$\alpha(t)$ is a smooth path lying in the unit disk $\Delta$

parameterized by $t_0O\le t\le t_15, the length of S\alpha$ is

defined by
\[\ell\alpha)=\int_{t_0}*t_1Arho_\Delta{\alpha(t))[\alpha'(t)|\,\mathrm{d}t.\]

The length of a piecewise smooth path is the sum of the lengths of - ] A W ol
each of its smooth parts. Then the distance function is defined by N ot °0
\begin{equation}
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d(a,b)=\inf\{\ell\alpha}\colon\alpha
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\end{equation}

This function is obviously symmetric and satisfies the triangle

inequality. For the unit disk, let $\alpha$ be a path which joins _(k o \j ore UW‘A Fs
$a=08 to Sh=xS, $0<x<1$. We can estimate the length of S\alpha$ in

the following way: For S\alpha(t)=\alpha_1(t)+\alpha_2(t})s, (Q ¢ Q ¢ . g

\begin{equation}
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\ell{\alpha} =
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On letting S\alpha(t)=txS, SO\le t\le 15, we get equality
in~(\ref{legn2}} and we see that the infimum in~{\ref{eqn1}) is
achieved by this curve and that

\[ d{0,x}=\frac{1}{2Nlog\frac{1+x}{1-x}.\]
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